











BRR oo sunbers is 1660. If 7.5% of one number is 12.5% of the o

_ find the two numbers. )
- o Bl Howy Em
dstn 1660 00w o8 ovg Tk 75K owy T0%, 12.5% woy

Lf] e o - "
Deekshitha purchased 8 pressure cooker at ]“ﬁ'lh of its selling price and solq 3
at 8% more than its sclling price. Find her gain percent:

Jany :

B A88 o8 (el HE6 & o elys 3o p P Soth &0 wlys 3o Soff ge
Dﬁlﬁ ® m‘.hgﬁ ady orf Tdod?

I 1.20,000, Rs.1.35,000 and Rs.1,50,000

! 8. AB and C started a business by investing Rs.
respectively. Find the share of each, out of an annual profit of Rs.56,700.-

- AB $8ak C e S8 1,20,000/, 1,35,000/-, 1,560,000/, Erarchod® ol oyen
Tnder DEPH. & TIPS VoIS wwrddo 56,700/~ traraber wond 2550 P Jok?

' __ SECTION - B
Answer any Three questions. Each question carries 10 Marks.
S S e SEreEEver (Eobde B8 BEHS 10 SrEe.

(3x10=30)

i)  Find the greatest number which on dividing 1657 and 2037 leaves remainder

d 6 and 5 respectively.
socky 5 en o SHoey KoY Towy

1657 $0asn 2037 o grhy I 6
At what time between 4 nad 5 o’clock will the hands of a clock be at righ

o | ? I



CBCS/ SEMESTER SYSTEM
Weed 2020-21 Admitted Batch)
BAUR.S5c. MATHEMATICS
COURSE-L, BIFFERENTIAL EQUATIONS

MATHEMATICS MODEL PAPER

Time: 3Hrs Max. Marks:75M
SECTION - A

Answer any FIVE questions. Each question carries FIVE marks5 X 5 M=25 M

aive (14 eV de + a7 (1< N dy =
I, Satve (1+ ™) (1 =)dy =0.

(o]

hnlml:y—s"“-"]ﬁ-—u"l -xi =0
3. Bolve v+ pr = pia?
4. Solve {pi—yilpy + %) =2p
5, Solve (D* —3D+ 2) =coshx
i, Salve{D¥ — 40 + 3y = &in I cos Ix
7. Salve :;T"' - I|£ + 13y = Be* 5in 2x

8. Solve x%y" = 2x(1 +x)v’ + 2(1 + x)y = 7

SECTION - B

Answer ALL the questions. Each question carries TEN marks. 5 X 10 M = 50 M

9 41 Salve a"l—': +y=v"logx
(O

9 b) Solve ['5.- +%_-,- g +—'_w"]:1~< + i"" Lxyildy =10

141 a) :\-III'\H"'I'. + Ipyeots = Wt
[Ciry
10 1) Find the orthogonal trajectories of the family of curves

a) &y dy oyt |
X '¥I4+yil=g 1 where "o’ is the parmmeter.

iR












LEa) SolvelD? + D¢ — D — 1)}y = cos 2%

1Cr)
11 b) Salve(B* = 30 + 2)y = sine™ .

12 a} Solve (D* = 2D + 4)y = B{x® + e + sin 2x)

(O}

12 1) %+ 3% + 2y = xe' sinx

134) Solve (D? = 200y = o sin x by the method of varation of parameters.

(O}

13b) Solve 3x° .:_ + Hdl—:' ty=x



CBCS/ SEMESTER SYSTEM
{w.ef. 2020-21 Admitted Batch)
B.AJB.5c, MATHEMATICS
COURSE-IV, REAL ANALYSIS
Time: 3Hrs Max.Marks:75M
SECTION - A

Answer any FIVE guestions. Each question carries FIVE marks 5 X 5 M=25 M

1.Prove that every convergent sequence is hounded

. 1 1 1
2. Show thatkim s + =

(n+1}  (n+2)° (n+n

1=0.

- A= . = §
3. Tast the canverpenceol Lhe wrjt-sz,::'= i{"."?l-"' +1— rrj
4. Examine for continuity of the function fdefined by [(x) = |x| + |x = 1] at x=0and 1.
5 Show that flx)=x Si.lli y XEQ; f(x)=0,x = 0 is contlnuous but not derlvable at

X=(]

B.¥erilv Rolle's theorem for the function f{x) = - #x"+11%-6 an [1,3]

TUfx)=x*¥x£E[0,1]and p= [{!.i, - : 17 then find Lip, [} and LUip, §)

b

B.prove than if F: |J,_|.J] —+ B is conttnucas on [w, b] ten £ is B- integrable on [a, b

SECTION -B

Answer ALL the gquestions. Each question carries TEN marks. 5 X 10 M - 50 M

1 1 1
9.iallf 8 = 1+ ?— - ;4— e e el i ey '5-; then show that {5, } converges
[CIR}

(b] State nnd prove Cauchy™s general principle of convergence,

1A State and Prove Caochy's mih mood 1est

(] 2H]

Q0
o
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s*0IMATIS-RB
BAJ/B.Se, (CBCS) DEGREE EXAMINATIONS, FEBRUARY - 2022
(Examination at the end of Fifth Semester)

Part - 11: Compulsory Paper
Linear Algebra
(Regm'm'fan:}ﬂ!s.}ﬁ)

Time : 3 Hours Maximum Marks : 75

PART -A
Answer any FIVE questions. (5%5=25)
OB B BHEeH SHrersine [EPehn.
1. Express the vector a=(1,—25)as a linear combination of the vectors
6=(LL1), &g=(123)6=(2,-11)
L asnEs 6, &, 5569 o Sodrror (abol.
2. IfSisaSubset of a vector space V(F), then prove that
) SisaSubspaceof V  L(S)=S$
b)  L(L(S)=L(S) _
S 6558 V(F) 03 562> wodotiins e50D8 wand
a) VB8Sadosoedin < LS)=5
b)) LS = L(S) oD DbrboSol.
3. Show that the set {(1, 0, 0), (1, 1, 0), (1, 1, 1)} is a basis of C'(C)hence find the Co-
' of the vector (3+4i, 6i, 3+7i) in C'(C)
328 {(1,0,0). (1, 1,0), (1, 1, 1)} 2.5 s5e5s0rosd o0, So
~7,-8),(2,1,-1) of V(R) is L.D.




@ Answer any FIVE questions. Eac...
SECTION -B Vv

Answer ALL the questions. Each question carries TEN
marks.5X10M=50M

9(a) A plane meets the coordinate axes in A, B, C.
[f the centroid of

A
ABC s
(a,b,c), show that the equation of the plane is
T4¥ 23
a b £
(OR)

(b)A variable plane is at a constant distance
p from the origin and meets the axes in
A,B,C. Show that the locus of the centroid
of the tetrahedron OABC is x*+y?+z2=16p™~

10(a) Find the shortest distance between the lines

—— T — T . P c— T — T —

(OR)

(b)Prove that the lines

-

are coplanar. Also

find their point of intersection and the plane containing
the lines.

11(a) Show that the two circles x*+y“+z*-y+2z=0, x-

Do you like Liquid Mode? @ @






1998. what is the percentage of

the states P and Q together in

‘Combining
|-- candidates qualified to that of the candidates appeared?
" a) 1087% b) 1149% o) 1235% ) 12.54%
‘-.JE!{) @ﬁ;ﬁgﬂ(ﬁ"‘ éjﬁgﬁ

1998 & P Hbaw Q orepos dodingorr Hothol)
F000S 0 e80!
. a) 10.87% b) 11.49% ¢) 12.35% d) 12.54%
ii) The percentage of the total number of qualified candidates to the fotal .
| number of appeared candidates among all the five states in 1999 is:

a) 1142%  b) 11.84% ¢) 12.21% d) 12.12%

1999 &8 o wied® $0b Mwdo DS wihot® 685 Fpold >0 PBos?

) 1i42%  b) 1184% o) 1221% &) 12.12%
fied from state N for all the years

om state N during all the years

iif) What is the percentage of candidates quali
together, over the candidates appeared fr

together?

a) 12.36%  b) 12.16% o) 1147% ) 11.15%

on) SodEred® TPy N %ol awdo e waiped® 6858 FooDd =8
ED0B7

o) 11.47% d). 11.15%

a) 1236%  b) 12.16%
What is the average of candidates who appeared from state Q during the

- given years? :
t I

¥) Total number of candidates qualifi
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(b} Test the convergence =|r'l: _:|

n

M4

11.(a) Let f: R— R he such that

sin{a+1)x4sinx
e ————— forx <10

X
- [or x=11
ety -2
——=——forx>0
b 72

Dietermine the values of a, b, © for which the functian £ is comtinuous st x=0

(CIR]
(b} Define uniform continuity, IF & function { is continwous on fa b then [ ks

updlfoemly eomntinuous on [ a b

4 = + ] 1 - - x W .
12.(8) Using Laprange’s theorem, show thal % > log(1l +x) = Vx>0
(14

(LR

{b) State and prove Couchy's mean value theorem

13.(a) State and prove Riemman®s necessary and sufficlent condition or B- integrabllity.

(TR
3 | 3
n m X n
-;'d:- ["ﬁJ'L'I:! that — 'E J- T lj.x i —
24 0 5+3cosx &

29



\ of money amounts to Rs.6690 after 3 years and to Rs.10,035 after

e on compound interest. Find the sum.
o8 Zwgo S H48° 3 Bongrest Gr 6690 D
mi. © Booeg SrHin?

Vishnu was 4 times as old as his son & years
will be twice as old his son. What are tl;cir present ages’

8 JodHore B0 Dy Sabdy 8D FHD Satyy Bob rentt Diy Sbdm 8
SosEyre Bond Dy S0y 68D Bb 5059 gt} Boto Bep @n8, OZO

08 Sebwy o ERFGHT

adin 6 Hodgored 610,035

ago. After § years, Vishnu

&' What was the day of the week on 15" August, 19477

1947, oy 16 308 @ BPer wHHOD?
ii) A, B and C starl a business each investing Rs.20,000. After 5 months
C invests Rs.6,000 more. At

A withdrew Rs.5.000, B withdrew Rs.4.000 and
the end of the year, a total profit of Rs.69,900 was recorded. Find the share

of each.
AB ®6co C e Rs. 90,000 ©8° 28 TV oot 5 S99 6!3'55 A
3 %8 Rs. 5,000 o, B o3 8 Rs. 4,000 = D6 BiotoB C &3 &8 Rs

6,000 e» ;}éi&é, Ttgod DD o8 Dodégo oS Rs 69,900 =80 53 "w

e D087

13, Study the following table carcfully oad o
L e s w500 st B8F T
' umber of candidates appeared and AIREE R







